
Editorial.

7. Divide 84,941 among A, B and C. so
that nine montha' inercsit on A's share at 3&
per cent. per annum, nine montht' intcrest
on IVa share a 3f per cent., and nine
months' interest on C'r sharc at 41 per
cent. may all be equal. Ans. 8182j, 01,70,
Sr,4174. [15.]

8. I owc a man $85o and give him my
note at 90 days; what must bc the face of
the note to pay the exact sum, if diacounted
at Il per cent. a month (bank discount)?

Ans. 5881.874. [15.]
9. A and B engage in trade. A invests

$6,ooo.and at the end of 5 months with-
draws a certain sum. B invests 84,000 and
at the end of 7 months 86,ooo more. At
the end of the year A's gain is 85,8o and
B's is 87,800 Finu the amount A with-
drcw. Ans. 84,ooo. [r5-j

Io. (t) If a brick 8 inches long 4 inchcs
wide and 2 inche thick weighs 5 lbs., what
will be the wcight of a brick of the sanme
material :6 inches long. 8 inches wide and

4 inches thick? Ans. 40 lbs. [9.]
(2) The top of a ladder rcaches to the top

of a wall when its foot is at a distance of
Io ft. from the bottom of the wall, but if the
foot of the ladder be drawn 4 fi. farther from
the wall the top of the ladder will reach a
point 2 ft. below the top of the wall. Find
thelength of the ladder. Ans. 26.92 ft. [12.]

Third Class.

ALGEBR A.

Examiner-J. C. G'ashan.
i Simplify

a'+b'+c'- (a-b+c)(a+b-c)

-(b-c+a)(b+c-a) - (c-a+b)(c+a-b).
Ans. 2 (a+b"+c' -bc-ca-ab). [8.]

2. Divide a' + b + c' - 2b*c' - 2a*c'
-2albl by a'+ b* -c'-2ab.

A ns. a' +b - cà - 2ab. [8.]
3. Multiply x-3 -. Zn-6 +Xz - i by x'+i.
Ans. x" +2x"-

3
+x"-+xc - 1. [8.]

4. Find the factors of
a' - b* +c' - d' + 2ac - 2bd.

Ans. (a+b+c+d)(a-b+c-d). [8.]
5. Find the factors of

(a +b)* - (b- c)2+ (c+a)2.
Ans. 2(a+c)(a+b). [8.]

6. Simplify
r 2 I

X Xns X+·2C[

1 3 3 1 3c
X xr+t x+2c x+31

7. Find the value of x that will satisfy the
equationi m(x - m) + n(x - n) =2mn.

Aln. x-m+n. [10.]
S. Determina x given

4 (x-a)(x-b) - (x-c)(x-d)l
=(d-c)-(b-a),. [12.]

9. Solve the simultancous equations
I 2

xx y - ! Pl;n.

x +2y=xy.

zo. A drnver bought 12 oxen and 2o shcep

for $1340; he afterwards bought to axen
and 26 shecp for an equal sum, paying $8
each more for the oxen and $3 each more
for the sheep. What was the price per ox
and what the price par sheep of the first lot ?

Ans. $oo and $7. [14.1

EUCLID.

Examiner-J. Dearness.

NoTS.-Symbols, except of oparation,
may be employed. Use capital letters on
the diagrams. It is recommendcd tlat every
step in the damonstration should begin on a
new line.

i. What is a postulata? [3.]
The pc.tulates permit or ask for the use

of the ruler and compass ; with what limita-
tions? [3.1

To what class of " Propositions " do the
axioms and the postulates respectively corre-
spond? [3.]

2. " A theorem consists of the hypothesis
and predicate, and requires demonstration."
Explain this statement by reference to two
propositions, one of them being " The greater
side of every triangle is opposite to the
greater angle." (I. :8.> [8.]

3 Draw a straight line at right angles to
a given straight li. from a given point in
the sane. (I. ii.) [to.]

4. In the preceding, given the point at
the end of the line, draw a line at right
angles without producing the given line.
(Apply I. 32.) [1o.)


